é@ 13127

A17'90 ZIN1 NAXN ,0M2'N 012') ,0'2AAX DIV NINYNN

27 AN ag'onnna Y1an 9T

:0'AIT DMK 101D D'NAN 07 L1
R20x+2y+10x —y+300—x+10x =
A4c+7c+c+35=c—2c+5+c=
Ax+y—x+2+y+12y+z—z=
T.24x =10 +6x—x+ X =
D"'0AI7IN DINYAN DIPNA D'YITIN DMI90NN NN 12'¥N D'NAN 072 n] .2
13x+2y-5 KX
x=1, y=21%n

Sh+2c+20 2

b=0, c =15 1awn

NN'M9 NKX "0 IWRD ,A17'90 PIN 97 0'MA10 INND D'XAN 072N .3
102N 1012 D'MIAIoN

N 7(x+1)=

a 2@3x-y)=

2 5(2x+5-y)=

T 5(10c+c)+7=

n 5@y—-2x)+10y =

N2 1ToN '9%7 ITAavn Xan aana .2
ninwnn 0ijna 07N 190NN NK 12NN ,0"2A'N 1010 ,0'"A10 INND K
.NNoI

3(d+2)+5d+4d—2 =
d=5 1xn



